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101|R#A7 L 482 215 267| Kg |B) 1,080 216|F 5,729 378
102|357 L 1,595 1595 Kg BIE 1,566 532
111|&EEF £ 164 31 133| Kg |BRES 1,188 108|EEIRE - &4 1,728 216
114|&5EFE 259 107 152| Kg |BR& 1,620 324|EERE - BE 2,700 1,188
15[\ 7= 1 1 Kg |&I 1,404
117[14 % 190 44 146| Kg |EE 2,160 594|FfE 3,780 1,080
121{hblE € 124 118 6| Keg |EE 864 486| L 864 216
134[#= 383 274 109| Kg [R5 £E 2,484 B40|FEfE 2,700 1,512
137|&5E3.< 10 10 Ke |[k% 1,620 1,404
140(5 I 31 31| Kg FEfi 43,200 10,800
147|E2 O 68 68| Kg i 7,020 4,000
168|BIEH AL H 314 314| Kg BIE 2,160 432
201|{Lb L 39 39| Kg KI5 540 432
203|/hé L 114 20 94| Kg |EFE 432 324|7& 5 378 108
205|585 L 196 196 Kg KI5 648 540
206| = 1F 415 415| Kg = 864 389
208| Mo % 396 396| Kg ML 1,620 216
2094 B & L 8 8 Kg [iO 1,890
210|1F ALy 64 64 Kg [wiO 5,400 2,430
212|&HE.3 Y 222 222| Kg FIE 1,998 1,188
252| VA EECH 163 83 80| Kg |#F 3,056 B4 3,780
254|E b ECH 527 30 497 Keg |BH0 1,436 Bh 1,998 918
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303[A 27z 18 18] Kg . 720

306|L e k) 27 27 Kg iR 1,188 972
315|7: B9 6 30 30 Kg = I 4,320 3,780
319|2h o 513 72 4411 Kg |EE 1,188 972|E&fE - R 1,296 594
332|= 13 WA =EF 151 151 Kg Bl = 3,024 2,052
3bl{HHV 25 5 20| Kg [3&E 3,780 E=AES 5,292 3,456
35411FxE<Y 59 591 Kg =5 2,376 1,404
355(mp Y 220 5 215 Kg [= 864 time - P E 1,728 600
356(L L& 32 32 Kg SR 2,160 972
357|7RE 30 30 Kg FEE 3,888 1,080
358|KE 5 5| Kg FA 3,456

362| & 12 12| Kg FJE 756

401|H W 40 40| Kg Iz & 2,160 2,052
4025 5 &E 25 25| Kg A0 5,292 3,564

2/2




O T R R ENFE T Y (R 5) il B it
SF6ESH10H (£ER)

R eI e 19 r~
(& I I BB 1 T0)
7% R (kg) Vg FARELS|
iEa Al BAAT
AR Y5 FHRF RS | PEH [ X D I X DI < (G ) PEHY mE(r) | e [ ZefE)

A—JLuhp 30 30 Kg 2P 810
AN 105 105] Kg i 1,450 810
AERAT AT 539 539 Kg 2P 2,160 473
ARTEZL 143 143] Kg E2p] 1,836 1,180
JE WA AE 70 70| Kg Bl = 820

iy} 199 199 Kg i 1,296 648
Jarys: e 389 389 Kg 2P 3,771 1,250
B 31 31| Kg i 4,000 950
BRI 338 338 Kg A - AL¥ 1,836 980
ARTYH 20 201 Kg 2Pl 691
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70110 BA 203 119 84| Kg |EE 2,862 1,620| 1% 1,728 1,620
704\ LETF 91 91 Kg F) 3,110
710(2 2 AT 5 5 Keg = 1,512
BlEFAI L 24 241 Kg SR 2,592 1,998
755|FH&» C 235 235 Kg Ko 864 710
7611 b BHAEL 30 301 Kg AL 2,160
76713725 W\ H 170 1701 Kg =1L 2,550 1,188
8011 = 1F 270 270 Kg ¥ -mA 1,728 594
802|1 x| 40 40 Kg mE 734
8041 % 9 46 461 Kg blo ] 1,080
805 = 1E 716 716 Kg bF 1,058 508
810|BAKTF 57 57 Kg biF 3,664 1,560
815|—¥9 A ZE 8 8| Kg EE 1,872
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